ISSN 1842-6298 (electronic), 1843-7265 (print) Volume **5** (2010), 123 – 134

# ON CERTAIN BASKAKOV-DURRMEYER TYPE OPERATORS

Asha Ram Gairola

**Abstract**. This paper is a study of the degree of approximation by the linear combinations of the derivatives of certain Durrmeyer type integral modification of the Baskakov operators in terms of the higher order modulus of smoothness.

#### 1 Introduction

Let  $H[0,\infty) = \{f : f \text{ is locally bounded on } (0,\infty) \text{ and } |f(t)| \leq M(1+t)^{\beta}, M > 0, \beta \in \mathbb{N} \cup \{0\}\}$ . Then, for  $f \in H[0,\infty)$ , the Durrmeyer modification of the classical Baskakov operators,

$$\widehat{V}(f,x) = \sum_{k=0}^{\infty} p_{n,k}(x) f\left(\frac{k}{n}\right)$$

are defined as

$$V_n(f,x) = (n-1) \sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} p_{n,k}(t) f(t) dt, \quad n \in \mathbb{N}, \ x \in [0,\infty).$$

An equivalence between local smoothness of functions and local convergence of Baskakov-Durrmeyer operators was given by Song Li [6]. Some results in simultaneous approximation by these operators were established in [7],[8].

In [3], [4] Gupta introduced an interesting modification of the Baskakov operators by combining the weight functions of beta operators and those of Baskakov operators so as to approximate Lebesgue integrable functions on  $[0, \infty)$  and established asymptotic formulae and an estimation of error in simultaneous approximation. These operators are defined as follows:

$$B_n(f,x) = \sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} b_{n,k}(t) f(t) dt,$$

2010 Mathematics Subject Classification: 41A25, 26A15. Keywords: Degree of approximation; modulus of smoothness.

\*

where 
$$p_{n,k}(x) = \binom{n+k-1}{k} \frac{x^k}{(1+x)^{n+k}}$$
,  $b_{n,k}(t) = \frac{t^k}{B(k+1,n)(1+t)^{n+k+1}}$  and  $B(k+1,n) = \frac{k!(n-1)!}{(n+k)!}$  is the beta integral.

The integral modification  $B_n$  of the Baskakov operators gives better results than the operators  $V_n$  and some approximation properties for the operators  $B_n$  become simpler in comparison to the operators  $V_n$ , (cf. [2],[3] and the references therein).

Throughout our work, let N denote the set of natural numbers,  $N^0$  the set of non-negative integers, and  $\|.\|_{C[a,b]}$ , the sup-norm on C[a,b], the space of continuous functions on [a,b].

Let f be a real valued function over  $\mathbb{R}$ . The m th  $(m \in N)$  forward difference of the function f at the point x of step length  $\delta$  is defined as

$$\Delta_{\delta}^{m} f(x) \stackrel{def}{\equiv} \sum_{j=0}^{m} {m \choose j} (-1)^{m-j} f(x+j\delta).$$

As a convention we write  $\Delta_{\delta}^{0} f(x)$  as f(x).

The *m*th order modulus of continuity  $\omega_m(f, \delta, I)$  for a function continuous on an interval *I* is defined by

$$\omega_m(f,\delta) \stackrel{def}{=} \sup_{0 < |h| \le \delta} \{ |\Delta_h^m f(x)| : x, x + mh \in I \},$$

where  $\Delta_h^m f(x)$  is the mth forward difference with step length h.

It turns out the order of approximation by these operators is, at best  $O(n^{-1})$ , however smooth the function may be. In order to speed up the rate of convergence by the operators  $B_n$ , we consider linear combinations  $B_n(f, k, x)$  of operators  $B_n$  defined as:

$$B_n(f, k, x) = \sum_{j=0}^{k} C(j, k) B_{d_j n}(f, x),$$

where

$$C(j,k) = \prod_{i=0, i\neq j}^{k} \frac{d_j}{d_j - d_i}, k \neq 0 \text{ and } C(0,0) = 1,$$

and  $d_0, d_1, ...d_k$  are (k+1) arbitrary but fixed distinct positive integers.

Section 2 of this paper contains some lemmas and their corollaries which we shall use in our main results. In section 3 we establish our main theorem. Further, the constant C is not the same at each occurrence.

\*

#### 2 Preliminaries

**Lemma 1.** [3] If the function  $\mu_{n,m}(x)$ ,  $m \in \mathbb{N}^0$  are defined as

$$\mu_{n,m}(x) = \sum_{k=0}^{\infty} p_{n,k}(x) \int_{0}^{\infty} b_{n,k}(t) (t-x)^{m} dt.$$

Then

$$\mu_{n,0}(x) = 1 \ \mu_{n,1}(x) = \frac{1+x}{n-1}$$

and

$$\mu_{n,2}(x) = \frac{2x^2(n+1) + 2x(n+2) + 2}{(n-1)(n-2)}.$$

Consequently, for each  $x \in [0, \infty)$ ,  $\mu_{n,m}(x) = O(n^{-[m+1]/2})$ . If K > 2, then for sufficiently large n, we have

$$\mu_{n,2}(x) \leqslant \frac{K\varphi^2(x)}{n}, \ \varphi(x) = \sqrt{x(1+x)}.$$
 (2.1)

**Lemma 2.** For the function  $p_{n,k}(x)$ , there holds the result

$$x^{r} \frac{d^{r} p_{n,k}(x)}{dx^{r}} = \sum_{\substack{2i+j \le r\\ i,j \ge 0}} n^{i} (k-nx)^{j} q_{i,j,r}(x) p_{n,k}(x),$$

where  $q_{i,j,r}(x)$  are certain polynomials in x independent of n and k.

*Proof.* The proof is easy to prove, hence details are omitted.

**Lemma 3.** For the functions  $A_{m,n}(x)$  given by

$$A_{m,n}(x) \equiv \sum_{\nu=0}^{\infty} \left(\frac{\nu}{n} - x\right)^m p_{n,\nu}(x),$$

we have  $A_{0,n}(x) = 1$ ,  $A_{1,n}(x) = 0$  and there holds the recurrence relation

$$n A_{m+1,n}(x) = \varphi^2(x) \left[ A'_{m,n}(x) + n m A_{m-1,n}(x) \right], \qquad (2.2)$$

where  $m \geqslant 1, x \in [0, \infty)$  and  $\varphi^2(x) = x(1+x)$ . Consequently, for all  $x \in [0, \infty), A'_{m,n}(x) = O(n^{-[(m+1)/2]})$ .

*Proof.* The proof follows by straightforward calculations, hence omitted.  $\Box$ 

**Lemma 4.** Let  $\delta$  and  $\gamma$  be any two positive real numbers. Then, for any s > 0 and  $0 < a_1 < b_1 < \infty$ , we have,

$$\sup_{x \in [a_1, b_1]} \left| n \sum_{k=0}^{\infty} p_{n,k}(x) \int_{|t-x| \ge \delta} b_{n,k}(t) t^{\gamma} dt \right| = O(n^{-s}).$$

Making use of Taylor's expansion, Schwarz inequality for integration and then for summation and Lemma 1, the proof of this lemma easily follows, hence the details are omitted.

**Lemma 5.** [2] If f is r times differentiable on  $[0,\infty)$ ,  $f^{(r)}$  is locally integrable in the Lebesgue sense on  $[0,\infty)$  and  $f^{(r)} = O(t^{\alpha})$  as  $t \to \infty$  for some  $\alpha > 0$ . Then, for r = 0, 1, 2, ... and  $n > \alpha + r$  we have

$$B_n^{(r)}(f;x) = \prod_{s=0}^{r-1} \frac{n+s}{n-s-1} \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_0^{\infty} b_{n-r,k+r}(t) f^{(r)}(t) dt.$$

Let  $f \in C[a, b]$  and  $[a_1, b_1] \subset [a, b]$ . Then, for sufficiently small  $\delta > 0$ , the Steklov mean  $f_{\delta,m}$  of m-th order corresponding to f is defined as follows:

$$f_{\delta,m}(t) = \delta^{-m} \int_{-\delta/2}^{\delta/2} \dots \int_{-\delta/2}^{\delta/2} \left( f(t) + (-1)^{m-1} \Delta_{\sum_{i=1}^{m} t_i}^{m} f(t) \right) \prod_{i=1}^{m} dt_i, t \in [a_1, b_1].$$

**Lemma 6.** For the function  $f_{\delta,m}$ , we have

- 1. [(a)]
- 2.  $||f_{\delta,m}^{(r)}||_{C[a,b_1]} \leq C\delta^{-r}\omega_m(f,\delta,[a,b]), r=1,2,...,m;$
- 3.  $||f f_{\delta,m}||_{C[a_1,b_1]} \leq C\omega_m(f,\delta,[a,b]);$
- 4.  $||f_{\delta,m}||_{C[a_1,b_1]} \leq C||f||_{C[a,b]};$

where C is a certain constant that depends on m but is independent of f and  $\delta$ .

Following [5, Theorem 18.17] or [9, pp.163-165] the proof of the above lemma easily follows hence the details are omitted.

**Lemma 7.** [1] If for  $r \in \mathbb{N}^0$ , we define

$$T_{r,n,m}(x) = \sum_{k=0}^{\infty} p_{n+r,k}(x) \int_{0}^{\infty} b_{n-r,k+r}(t)(t-x)^{m} dt,$$

\*

then,

$$T_{r,n,0}(x) = 1, T_{r,n,1}(x) = \frac{1+r+x(1+2r)}{(n-r-1)},$$

$$T_{r,n,2}(x) = \frac{2(2r^2+4r+n+1)x^2+2(2r^2+5r+2+n)x+(r^2+3r+2)}{(n-r-1)(n-r-2)}$$

and there holds the recurrence relation:

$$(n-r-m-1)T_{r,n,m+1}(x) = x(1+x)\left\{T'_{r,n,m}(x) + 2mT_{r,n,m-1}(x)\right\} + \left\{(m+r+1)(1+2x) - x\right\}T_{r,n,m}(x), \ n > r+m+1.$$

Consequently,  $T_{r,n,m}(x) = O(n^{-[(m+1)/2]})$ , where  $[\beta]$  is the integer part of  $\beta$ .

Remark 8. From above lemma by induction on m it follows that

$$T_{r,n,2m}(x) = \sum_{i=0}^{m} q_{i,m,n}(x) \left[ \frac{\phi^2(x)}{n} \right]^{m-i} n^{-2i},$$

$$T_{r,n,2m+1}(x) = (1+2x) \sum_{i=0}^{m} s_{i,m,n}(x) \left[ \frac{\phi^2(x)}{n} \right]^{m-i} n^{-2i-1},$$

where  $q_{i,m,n}(x)$  and  $s_{i,m,n}(x)$  are polynomials in x of fixed degree with coefficients that are bounded uniformly for all n.

**Lemma 9.** Let  $f \in H[0,\infty)$  and be bounded on every finite subinterval of  $[0,\infty)$  admitting a derivative of order 2k+r+2 at a fixed point  $x \in (0,\infty)$ . Let  $f(t) = O(t^{\alpha})$  as  $t \to \infty$  for some  $\alpha > 0$ , then, we have

$$\lim_{n \to \infty} n^{k+1} \left[ B_n^{(r)}(f, k, x) - f^{(r)}(x) \right] = \sum_{i=r}^{2k+r+2} f^{(i)}(x) Q(i, k, r, x), \tag{2.3}$$

and

$$\lim_{n \to \infty} n^{k+1} \left[ B_n^{(r)}(f, k+1, x) - f^{(r)}(x) \right] = 0, \tag{2.4}$$

where Q(i, k, r, x) are certain polynomials in x.

Further, the limits in (2.3) and (2.4) hold uniformly in [a,b], if  $f^{(2k+r+2)}$  exists and is continuous on  $(a-\eta,b+\eta)\subset(0,\infty), \eta>0$ .

*Proof.* By the Taylor's expansion, we have

$$f(t) = \sum_{i=0}^{2k+r+2} \frac{f^{(i)}(x)}{i!} (t-x)^i + \epsilon(t,x)(t-x)^{2k+r+2},$$

\*

where  $\epsilon(t,x) \to 0$  as  $t \to x$ . Applying the linear combinations  $B_n(f,k,.)$  on both side of above expansion and using Lemma 6, for sufficiently, large n we have

$$n^{k+1} \left[ B_n^{(r)}(f,k,x) - f^{(r)}(x) \right]$$

$$= n^{k+1} \left[ \sum_{j=0}^k C(j,k) B_{d_j n}^{(r)}(f,x) - f^{(r)}(x) \right]$$

$$= n^{k+1} \left[ \sum_{j=0}^{2k+r+2} \frac{f^{(i)}(x)}{i!} \sum_{j=0}^k C(j,k) \prod_{s=0}^{r-1} \frac{nd_j + s}{nd_j - s - 1} \sum_{l=0}^{\infty} p_{d_j n + r, l}(x) \right]$$

$$\times \int_0^\infty b_{nd_j - r, l + r}(t) \frac{\partial^r}{\partial t^r}(t - x)^i dt - f^{(r)}(x) \right]$$

$$+ n^{k+1} \left[ \sum_{j=0}^k C(j,k) B_{d_j n}^{(r)}(\epsilon(t,x)(t - x)^{2k+r+2}, x) \right]$$

$$=: E_1 + E_2, \text{ say.}$$

Now,

$$E_{1} = n^{k+1} \left[ \left\{ \sum_{i=r+1}^{2k+r+2} \frac{f^{(i)}(x)}{i!} \sum_{j=0}^{k} C(j,k) \prod_{s=0}^{r-1} \frac{(nd_{j}+s)}{nd_{j}-s-1} \sum_{l=0}^{\infty} p_{d_{j}n+r,l}(x) \right. \right.$$

$$\times \int_{0}^{\infty} b_{nd_{j}-r,l+r}(t) \frac{\partial^{r}}{\partial t^{r}} (t-x)^{i} dt \left. \right\}$$

$$+ \left. \left\{ f^{(r)}(x) \sum_{j=0}^{k} C(j,k) \prod_{s=0}^{r-1} \frac{(nd_{j}+s)}{nd_{j}-s-1} - f^{(r)}(x) \right\} \right]$$

$$= : E_{1,1} + E_{1,2} \text{ say.}$$

In view of the identity

$$C(j,k)d_j^{-m} = \begin{cases} 1; \ m = 0 \\ 0; \ m = 1, 2, ...k, \end{cases}$$
 (2.5)

we get

$$E_{1,2} = n^{k+1} f^{(r)}(x) \sum_{j=0}^{k} C(j,k) \left\{ \prod_{s=0}^{r-1} \frac{(1+s/nd_j)}{1-(s+1)/nd_j} - 1 \right\}$$
  
= 0 as  $n \to \infty$ .

\*

Next, by Lemma 7 and identity (2.5), we get

$$E_{1,1} = n^{k+1} \sum_{i=r+1}^{2k+r+2} \frac{f^{(i)}(x)}{i!} \frac{i!}{(i-r)!} \sum_{j=0}^{k} C(j,k) \left\{ \prod_{s=0}^{r-1} \frac{(1+s/nd_j)}{1-(s+1)/nd_j} \right\} T_{r,d_j n,i-r}(x)$$

$$= \sum_{i=r+1}^{2k+r+2} f^{(i)}(x) Q(i,k,r,x) + o(1), \ n \to \infty.$$

Thus,

$$E_1 = n^{k+1} \left( f^{(r)}(x) + \sum_{i=r+1}^{2k+r+2} f^{(i)}(x)Q(i,k,r,x) \right)$$
$$= n^{k+1} \sum_{i=r}^{2k+r+2} f^{(i)}(x)Q(i,k,r,x),$$

as  $n \to \infty$ . Now, we proceed to show that  $E_2 \to 0$  as  $n \to \infty$ . For this, it is sufficient to prove that  $I = n^{k+1} B_n^{(r)} \left( \epsilon(t,x) (t-x)^{2k+r+2}, x \right) \to 0$  as  $n \to \infty$ .

Using Lemma 2, we get

$$|I| \leqslant n^{k+1} \sum_{\nu=0}^{\infty} p_{n,\nu}^{(r)}(x) \int_{0}^{\infty} b_{n,\nu}(t) \left| \epsilon(t,x)(t-x)^{2k+r+2} \right| dt$$

$$\leqslant n^{k+1} M(x) \sum_{\substack{2i+j \leqslant r \\ i,j \geqslant 0}} n^{i} \sum_{\nu=0}^{\infty} p_{n,\nu}(x) \left| \nu - nx \right|^{j} \times$$

$$\times \int_{0}^{\infty} b_{n,\nu}(t) \left| \epsilon(t,x)(t-x)^{2k+r+2} \right| dt,$$

where  $M(x) = \sup_{\substack{i,j \leq r \\ i,j \geq 0}} |q_{i,j,r}(x)| / x^r$ . Applying the Schwarz inequality, we get

$$|I| \leq n^{k+1} M(x) \sum_{\substack{2i+j \leq r \\ i,j \geq 0}} n^{i} \left\{ \sum_{\nu=0}^{\infty} p_{n,\nu}(x) (\nu - nx)^{2j} \right\}^{1/2} \times \left\{ \sum_{\nu=0}^{\infty} p_{n,\nu}(x) \left( \int_{0}^{\infty} b_{n,\nu}(t) \left| \epsilon(t,x) (t-x)^{2k+r+2} \right| dt \right)^{2} \right\}^{1/2}.$$

Since,  $\epsilon(t,x) \to 0$  as  $t \to x$ , for a given  $\varepsilon > 0$  there exists a  $\delta > 0$  such that  $|\epsilon(t,x)| < \varepsilon$ , whenever  $0 < |t-x| < \delta$ , and for  $|t-x| \ge \delta$  there exists a constant C such that  $|\epsilon(t,x)| < C|t-x|^{\beta}$ , where  $\beta$  is an integer  $\ge 2k+r+2$ .

\*

As, 
$$\int_{0}^{\infty} b_{n,\nu}(t) dt = 1$$
, we get

$$K = \left( \int_{0}^{\infty} b_{n,\nu}(t) \left| \epsilon(t,x)(t-x)^{2k+r+2} \right| dt \right)^{2}$$

$$\leqslant \left( \int_{0}^{\infty} b_{n,\nu}(t) dt \right) \left( \int_{0}^{\infty} b_{n,\nu}(t) \left( \epsilon(t,x)(t-x)^{2k+r+2} \right)^{2} dt \right)$$

$$\leqslant \int_{0 < |t-x| < \delta} b_{n,\nu}(t) \, \varepsilon^{2}(t-x)^{4k+2r+4} dt + \int_{|t-x| \ge \delta} b_{n,\nu}(t) \, C^{2}(t-x)^{4k+2r+2\beta+4} dt.$$

Next, by Lemma 3 and Lemma 7, we have

$$\begin{split} |I| &\leqslant n^{k+1} M(x) \sum_{\substack{2i+j \leqslant r \\ i,j \geqslant 0}} n^{i+j} O\left(n^{-j/2}\right) O\left(n^{-(2k+r+2)/2}\right) \left\{ \varepsilon^2 + O\left(n^{-\beta/2}\right)^{1/2} \right. \\ &\leqslant O(1) \left\{ \varepsilon^2 + O\left(n^{-\beta/2}\right) \right\}^{1/2} \\ &\leqslant \varepsilon O(1). \end{split}$$

Since,  $\varepsilon$  is arbitrary, it follows that  $I \to 0$  as  $n \to \infty$ . The assertion (2.4) follows along similar lines by using identity 2.5 for k+1 in place of k.

The last assertion follows, due to the uniform continuity of  $f^{(2k+r+2)}$  on  $[a,b] \subset R_+$  (enabling  $\delta$  to become independent of  $x \in [a,b]$ ) and the uniformity of o(1) terms in the estimate of  $E_{1,1}$  and  $E_{1,2}$  (in fact, it is a polynomial in x).

## 3 Simultaneous Approximation

**Theorem 10.** Let  $f \in H[0,\infty)$  for some C > 0 and  $r \in N$ . If  $f^{(r)}$  exists and is continuous on  $(a - \eta, b + \eta), \eta > 0$  then for sufficiently large n,

$$\left\| B_n^{(r)}(f,k,) - f^{(r)} \right\|_{C[a,b]} \le C n^{-(k+1)} \left\{ \|f\|_{C[a,b]} + \omega_{2k+2} \left( f^{(r)}; n^{-1/2}; (a-\eta, b+\eta) \right) \right\},$$

where C is independent of f and n.

*Proof.* Using  $f_{\delta,2k+2}^{(r)} = (f^{(r)})_{\delta,2k+2}$  and linearity of the operators  $B_n^{(r)}(f,k,)$ , we

\*

Surveys in Mathematics and its Applications 5 (2010), 123 – 134 http://www.utgjiu.ro/math/sma can write

$$I = \left\| B_n^{(r)}(f,k,) - f^{(r)} \right\|_{C[a,b]}$$

$$\leq \left\| B_n^{(r)}(f - f_{\delta,2k+2},k,) \right\|_{C[a,b]} + \left\| B_n^{(r)}(f_{\delta,2k+2},k,) - f_{\delta,2k+2}^{(r)} \right\|_{C[a,b]}$$

$$+ \left\| f^{(r)} - f_{\delta,2k+2}^{(r)} \right\|_{C[a,b]}$$

$$:= E_1 + E_2 + E_3, \text{ say.}$$

Hence by property (b) of the Steklov mean, we get

$$E_3 \leqslant C \omega_{2k+2} \left( f^{(r)}, \delta, (a - \eta, b + \eta) \right).$$

Next, applying Lemma 9 and Lemma 6, for each m = r, r+1, ..., 2k+2+r, it follows that

$$E_{2} \leqslant C n^{-(k+1)} \sum_{m=r}^{2k+2+r} \|f_{\delta,2k+2}^{(m)}\|_{C[a,b]}$$

$$\leqslant C n^{-(k+1)} \left( \|f_{\delta,2k+2}\|_{C[a,b]} + \|f_{\delta,2k+2}^{(2k+2+r)}\|_{C[a,b]} \right)$$

$$\leqslant C n^{-(k+1)} \left( \|f_{\delta,2k+2}\|_{C[a,b]} + \|(f^{(r)})_{\delta,2k+2}^{2k+2}\|_{C[a,b]} \right).$$

Hence, by property (a) and (c) of Steklov mean we have

$$E_2 \leqslant C \, n^{-(k+1)} \left\{ \|f\|_{C[a,b]} + \omega_{2k+2} \left( f^{(r)}, \delta, (a-\eta, b+\eta) \right) \right\}$$

Let  $f - f_{\delta,2k} = \phi$ .

From the smoothness of the function  $f - f_{\delta,2k}$ , k = 1, 2, ... 2k + 2, we can write

$$\phi(t) = \sum_{m=0}^{r} \frac{\phi^{(m)}(x)}{m!} (t-x)^m + \frac{\phi^{(r)}(\xi) - \phi^{(r)}(x)}{r!} (t-x)^r \psi(t) + \theta(t,x) (1-\psi(t)),$$

where  $\xi$  lies between t and x, and  $\psi$  is the characteristic function of the interval  $(a-\eta,b+\eta)$ . Moreover, by direct calculations it can be proved that  $\theta(t,x)$  tends to 0 as t tends to x. For  $t \in (a-\eta,b+\eta)$  and  $x \in [a,b]$ , we write

$$\phi(t) = \sum_{m=0}^{r} \frac{\phi^{(m)}(x)}{m!} (t-x)^m + \frac{\phi^{(r)}(\xi) - \phi^{(r)}(x)}{r!} (t-x)^r,$$

and in the case  $t \in (0, \infty) \setminus (a - \eta, b + \eta), x \in [a, b]$  we define

$$\theta(t,x) = \phi(t) - \sum_{m=0}^{r} \frac{\phi^{(m)}(x)}{m!} (t-x)^{m}.$$

\*

Again, from the linearity of the operators  $B_{n}^{(r)}\left(f,k,\right)$ , we get

$$B_{n}^{r}(\phi(t), x) = \sum_{m=0}^{r} \frac{\phi^{(m)}(x)}{m!} B_{n}^{r}((t-x)^{m}, x)$$

$$+ \frac{B_{n}^{r}(\phi^{(r)}(\xi) - \phi^{(r)}(x))(t-x)^{r}\psi(t), x)}{r!} +$$

$$+ B_{n}^{r}(\theta(t, x) (1 - \psi(t)), x)$$

$$:= J_{1} + J_{2} + J_{3}, \text{ say.}$$

By using Lemma 1, we get

$$J_1 = \sum_{m=0}^r \frac{\phi^{(m)}(x)}{m!} B_n^r ((t-x)^m, x) = C \sum_{m=0}^r \frac{\phi^{(m)}(x)}{m!} n^{-[(m+1)/2]}$$

Again, using the Lemma 6 for the functions  $f^{(r)} - f_{\delta,2k+2}^{(r)}$ , r = 1, 2, ...2k + 2. Hence, for sufficiently large n, we have

$$|J_1| \leqslant C \|f - f_{\delta,2k+2}\|_{C[a,b]} + o(n^{-1})$$
  
$$\leqslant C\omega_{2k+2}(f,\delta,(a-\eta,b+\eta)) + o(n^{-1}).$$

Next, using Lemma 2 and Schwarz inequality for integration and then for summation we get

$$J_{2} \leqslant \frac{2}{r!} \| f^{(r)} - f_{\delta,2k+2}^{(r)} \|_{C[a,b]} B_{n}^{r} (\psi(t)|t - x|^{r}, x)$$

$$\leqslant \frac{2}{r!} \| f^{(r)} - f_{\delta,2k+2}^{(r)} \|_{C[a,b]} \sum_{\substack{2i+j \leqslant r \\ i,j \geqslant 0}} n^{i} \frac{|q_{i,j,r}(x)|}{x^{r}} \sum_{\nu=1}^{\infty} p_{n,\nu}(x) |\nu - nx|^{j} \times$$

$$\times \int_{0}^{\infty} b_{n,\nu}(t) \psi(t) |t - x|^{r} dt$$

$$\leqslant \frac{2}{r!} \| f^{(r)} - f_{\delta,2k+2}^{(r)} \|_{C[a,b]} \sum_{\substack{2i+j \leqslant r \\ i,j \geqslant 0}} n^{i} \frac{|q_{i,j,r}(x)|}{x^{r}} \sum_{\nu=1}^{\infty} p_{n,\nu}(x) |\nu - nx|^{j} \times$$

$$\times \left( \int_{0}^{\infty} b_{n,\nu}(t) dt \right)^{1/2} \left( \int_{0}^{\infty} b_{n,\nu}(t) (t - x)^{2r} dt \right)^{1/2}$$

\*

$$\leqslant C \|f^{(r)} - f_{\delta,2k+2}^{(r)}\|_{C[a,b]} \sum_{\substack{2i+j \leqslant r \\ i,j \geqslant 0}} n^i \left(\sum_{\nu=1}^{\infty} p_{n,\nu}(x)(\nu - nx)^{2j}\right)^{1/2} \times \left(\sum_{\nu=1}^{\infty} p_{n,\nu}(x) \int_{0}^{\infty} b_{n,\nu}(t)(t-x)^{2r}\right)^{1/2} \times \left(\sum_{\nu=1}^{\infty} p_{n,\nu}(t) \int_{0}^{\infty} b_{n,\nu}(t)(t-x)^{2r}\right)^{1/2} \times \left(\sum_{\nu=1}$$

Since  $t \in (0, \infty) \setminus (a - \eta, b + \eta)$ , we can choose a  $\delta > 0$  in such a way that  $|t - x| \ge \delta$  for all  $x \in I$ . Thus, by Lemma 2, we obtain

$$|J_3| \leq \sum_{\substack{2i+j \leq r\\i,j \geqslant 0}} n^i \frac{|q_{i,j,r}(x)|}{x^r} \sum_{\nu=1}^{\infty} p_{n,\nu}(x) |\nu - nx|^j \int_{|t-x| \geqslant \delta} b_{n,\nu}(t) |\theta(t,x)| dt.$$

For  $|t-x| \ge \delta$ , we can find a constant C > 0 such that  $|\theta(t,x)| \le C t^{\gamma}$ . Finally using Schwarz inequality for integration and then for integration, Lemma 3, and Lemma 4, it easily follows that  $J_3 = O(n^{-s})$  for any s > 0.

Combining the estimates  $J_1 - J_3$ , we obtain

$$E_1 \leqslant C \|f^{(r)} - f_{\delta,2k+2}^{(r)}\|_{C[a,b]}$$
  
 
$$\leqslant C \omega_{2k+2} \left(f^{(r)}, \delta, (a-\eta, b+\eta)\right) \text{ (in view of (b) of Steklov mean)}.$$

Finally, taking  $\delta = n^{-1/2}$  the theorem is concluded.

### References

- V. Gupta, Global approximation by modified Baskakov type operators, Publ. Mat.,
   Vol 39 (1995), 263-271. MR1370885(96m:41023). Zbl 0856.41015
- [2] V. Gupta and G. S. Srivastava, Approximation by Durrmeyer-type operators, Ann. Polon. Math. LXIV (2), (1996) 153-159. MR1397587(97g:41031). Zbl 0876.41018
- [3] V. Gupta, A note on modified Baskakov type operators, Approx. Theory Appl. (N.S.) **10** (3), (1994) 74-78. MR1308840(95k:41033). Zbl 0823.41021
- [4] V. Gupta, Rate of convergence by Baskakov-beta operators, Mathematica 37 (60), (1995), no. 1-2, 109-117. MR1607845(98m:41036). Zbl 0885.41017

\*

[5] E. Hewitt and K. Stromberg, Real and Abstract Analysis, McGraw-Hill, New-York, 1969. MR0367121(51#3363). Zbl 0225.26001.

- [6] S. Li, Local Smoothness of Functions and Baskakov-Durrmeyer Operators, J. Approx. Theory 88, (1997) 139-153. MR1429969(97m:41023). Zbl 0872.41008
- [7] Q.-I. Qi and S. S. Guo, Simultaneous approximation by Baskakov-Durrmeyer operators, Chinese Quart. J. Math. 16 (1), (2001) 38–45. MR1862043. Zbl 0983.41011
- [8] R. P. Sinha, P. N. Agrawal and V. Gupta, On simultaneous approximation by modified Baskakov operators, Bull. Soc. Math. Belg. Ser. B 43 (2), (1991) 217– 231. MR1314694(95k:41038).
- [9] A. F. Timan, Theory of Approximation of Functions of a Real Variable (English Translation), Dover Publications, Inc., N. Y., 1994. MR1262128(94j:41001). Zbl 0117.29001.

Asha Ram Gairola Indian Institute Of Technology Roorkee, Roorkee (Uttarakhand), India. e-mail: ashagairola@gmail.com

\*